Задана функция:
[image: plot | 1\/2 x^4-9 x^2 | x = -1 to 4]

[image: http://www4b.wolframalpha.com/Calculate/MSP/MSP468211e612123gae14500005iih6hg19cc7g4gb?MSPStoreType=image/gif&s=59&w=300.&h=187.&cdf=RangeControl]

Производная функции равна:
[image: 2 x^3-18 x = 0]

[image: http://www4b.wolframalpha.com/Calculate/MSP/MSP26611b10a6ic37c5ai2f00005590482689656c61?MSPStoreType=image/gif&s=60&w=300.&h=194.&cdf=Coordinates&cdf=Tooltips]



[image: min{(x^2+25)\/(10 x)} = 1 at x = 5]

[image: http://www4b.wolframalpha.com/Calculate/MSP/MSP17561g03fd7d01e7d5eb00000hd4594846bf6bi5?MSPStoreType=image/gif&s=22&w=409.&h=197.&cdf=Coordinates&cdf=Tooltips]
[image: d\/dx((x^2+25)\/(10 x)) = 1\/10-5\/(2 x^2)]

[image: 1\/10-5\/(2 x^2) = 0]
[image: x = -5]
[image: x = 5]
[image: http://www4a.wolframalpha.com/Calculate/MSP/MSP4071dbb7if24a4189dg00001bd8ag6f9ahah342?MSPStoreType=image/gif&s=27&w=300.&h=183.&cdf=Coordinates&cdf=Tooltips]
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